Tip of the Week

sLocal Alarm and Archive Filtering



[Tip of the Week

Managing local Resources (link tables)

O

O

What does ‘resources exhausted’ mean ?

Rich clients: the programmer usually has an
eye on efficiency when he/she knows that a
call to ‘get’ something is going over the net.

Historically: busy client applications might
have a few 10s of data links.

Default connection table allows 1024
simultaneous links ...



Really Busy

Rich Client
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Its connection table ...

=
| £:| Application Debugging console dows 7 6.1)

Example # 1

[ |

j clients | contracts | ‘connections | messages |debug level; ® off (1 (22 (3 (4

| Wachine/Machine[pre imer @ 1000 msec =0= (value 1 [31.3, 0]} -
i[‘1!35] .n'LINACEJ’RFMachmes’l'-ﬂachme[prebF'haIS‘I‘] timer @1000 msec =0= (value : [31.8, 0}
[166] ILINACZ2/RFMachine/Machine[prebPhaMameStatus] timer @1000 msec <0= (value : [, 1, 0])
[167] /LINACZ/RFDBUnigueltem/Unigueltem[maxMotPrebuncherPhaseSOLL] timer @1000 msec <0= (value : 100.0)
[168] ILINACZ/RFDBUnigueltem/Unigqueltem[minMotPrebuncherPhaseS0LL] timer @ 1000 msec <0= (value : 0.1)
[169] ILINACZ/RFDBUnigueltem/Uniqueltem[unitMotPrebuncherPhase SOLL] timer @1000 msec <0= (value : SKT)
[170] LINACZ2/RFMachine/Machine[prebPhaSOLL_MNEU] timer @1000 msec <0= {(value : [48.9, 0])
[17 1] /ILINAC2/RFMachine/Machine[prebPhalST_NEU] timer @1000 msec =0= (value : [49.0, 0])
[172] ILINACZ/RFDBUnigueltem/Uniqueltem[maxMotPrebuncherPhase30LL_MNEU] timer @1000 msec <0= (value : 100.0)
[173] ILINACZ/RFDBUniqueltem/Uniqueltem[minMotPrebuncherPhaseSOLL_NEU] timer @1000 msec <0= (value : 0.1)
[174] LINACZ2/RFDBUniguelte m/Unigu eltem{unitMotPrebuncherPhaseSOLL_MNEU] timer @1000 msec =0= {value : SKT)
[175] ILINACZIRFGun/Gun[gunModVeltage] timer @1000 msec <0= (value : [0.0, 0])
[176] ILINACZIRFGun/Gun[gunModCurrent] timer @1000 msec <0= (value : [0.059597, 0])
[177] ILINACZ/RFGuUn/Gun[gunKklystronVoltage] imer @ 1000 msec <0= {(value : [0.0, 0])
[17 8] ILINACZ2IRFGuUn/Gun[gunklystronCurrent] timer @1000 msec =0= (value : [0.0, 0])
[17 9] ILINAC2/Kicker/Conv.PulserlstPLPS] timer @1000 msec <0= (value : [2, 0.019550342, 0])
[180] ILINACZ2/Kicker/Conv.Pulser[HVAIll timer @1000 msec <0= (7 values read)
[181] LINACZ2/RFBeam/BeamCurrentLimiter[beamCurrentLimiterRecy] timer @1000 msec <0= {value : [0.0, 0])
[182] ILINAC2/RFSedacManagment/SedacManagmentfisActive] timer @1000 msec <0= (value : [DEACTIVATED, 0, 01)
[183] ILINAC2/RFSedacManagment/SedacManagmentfisAlive] timer @1000 msec <0= (value : IS_ALIVE, 1, 0])
[192] ILINACZ2/Kicker Pulse/BK_05Inj[Trace REF] datachange @500 msec <0= (250 values read)
[193] /LINACZ2/Kicker Pulse/BK_05Inj[Trace SEQ] timer @500 msec =0= (2000 values read)
[194] ILINACZ/Kicker.Pulse/BK_05Inj[Trace.INFO] datachange @500 msec <0= (value : Struct TraceHS
{
deviceMName -=BK_05Inj
deviceDesc -=BK-5 PIA Inj
dataFormat-= 517
arraySize -= 250
preTrigger-= 0
scaleX -> 5.0E-9
offsetd -= -6.95E-7
unitsX -=sec
plotMaxy -= 0.5
plotMinY -=-4.0
unitsy =V
reserved-=0000000000000000000000000000000000000000000000000000000000000000000

[195] ILINAC2/Kicker.Pulse/BK_05Inj[Trace.SCH] timer @500 msec <0= (250 values read)
[196] ILINACZ2/Kicker Pulse/[SRVSTARTTIME] timer @500 msec <0= {value : 1470738033)
[197]/ILINAC2/GLOBALS/[BeamPerm] receive @1000 msec =0= (value : 1)

[198] ILINACZ2/GLOBALS/BeamPermTexd] receive @1000 msec =0= {value : Vorhanden)




[Tip of the Week

The connection table is a table (not an
array list or linked list).

o The lookups are faster and there is little
or no fragmentation problem on platforms
with poor MMUs (e.g. VxWorks).

But hey, 1024 links ought to be
enough for anyone!



A Busy Panel Client

Example # 2

NAC2_Vakuum Overview
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lts Connection Table

Example # 2

| clients || contracts | connections | messages |debug level: ® off (01 22 03 04

T
['10'1'1] !LINACQNAC SVNS LE[RdSvSTatuslnteger] reglster is boundto ILINACQNAC S\."NU L2[RdSuStatusInteger] (as an MCA element} @3000 msec =0= (value : '1}

[1015] /LINACZ2IVAC. SVAVWA_L2[RdSvtatusinteger] register is bound to /[LINACZVAC.SVIVO_L2[RdSvStatusinteger] (as an MCA element) @3000 msec =0= (value : 1)

[1018] JLINACZ2IVAC SVIV1_L2[RdSvStatusinteger] register is bound to /LINACZNVAC.SVVO_L2[RdSvStatusinteger] (as an MCA element) @3000 msec <0= (value : 1)

[1021] JLINACZ2/VAC SVIV3_L2[RdSvStatusinteger] register is bound to /LINAC2NVAC SVIVO_L2[RdSvStatusinteger] (as an MCA element) @3000 msec =0= (value : 4)

[1023] JLINACZ2IVAC. SVNVWZ_L 2[RdSvStatusinteger] register is bound to /ILINAC2ZVAC SVIVO_L2[RdSvStatusinteger] (as an MCA element) @3000 msec =0= (value : 1)

[1024] JLINAC2IVAC SVNV2_L 2[RdSvStatusinteger] register is bound to /LINAC2NVAC.SVVO_L2[Rd3vStatusinteger] (as an MCA element) @3000 msec <0= (value : 1)

[1025] /JLINACZ2IVAC SVIVT_L2[RdSvStatusinteger] register is bound to [LINAC2NVAC.SVIVD_L2[RdSvStatusinteger] (as an MCA element) @3000 msec =0= (value : 1)

[1026] JLINAC2VAC. TPGISEK. L2_A3[dddRdSchaltFktStatinteger] register is bound to /LINAC2WVAC TPG/SEK.L2_A1G1[dddRdSchaltFktStatinteger] (as an MCA elemeant) @3000 msec <0= (value : 1)
[1027] /LINACZ2IVAC. SVIVD_L2[RdSvEtatusinteger] timer @3000 msec <0= (11 values read)

[1029] JLINAC2/VAC ION_PUMP/SEK L2_A3KICKERZ FLAG] timer @3000 msec <0= (value

[1030] JLINACZ2VACION_PUMPISEK. L2 _AS[KICKER4 FLAG] timer @3000 msec <0+ (value :

[1031] JLINACZ2/VAC.ION_PUMP/SEK L2_A3KICKER1.FLAG] timer @3000 msec <0= (value

[1032] JLINACZVAC. ION_PUMPISEK.L2_A3KICKER3.FLAG] timer @3000 msec <0= (value :

[1033] /LINACZ2IVAC. TP GISEK. L2_A4[dddRdSchaltFktStatinteger] register is bound to /LINAC2VAC TPGISEK.L2_A1G1[dddRdSchaltFktStatinte ger] (as an MCA element) @3000 msec =0= (value : 1)
[1040] JLINAC2/VAC IOMN_PUMP/SEK L2_A4[KICKER4.FLAG] timer @3000 msec <0= (value : 0)

[1041] /LINACZ2/VAC.IOMN_PUNMP/SEK. L2_A4[KICKERZ. FLAG] timer @3000 msec <0= (value : 0)

[1042] JLINAC2/VAC.ION_PUMP/SEK L2_A4[KICKER3.FLAG] timer @3000 msec <0= (value : 0)

[1043] JLINACZ2/VAC ION_PUMP/SEK. L2 _A4[KICKER1.FLAG] timer @3000 msec <0= (value : 0)

[1048] JLINACZ2/VAC. TPGISEK. L2_AS[dddRdSchaltFktStatinteger] register is bound to /LINAC2VAC TPGISEK.L2_A1G1[dddRdSchaltFktStatinteger] (as an MCA element) @3000 msec <0= (value : 1)
[1049] JLINACZVAC.ION_PUMP/SEK.L2_ASKICKER3.FLAG] timer @3000 msec <0= (value : 0)

[1050] JLINACZ2/VAC.IOMN_PUMP/SEK L2_ASIKICKER4.FLAG] timer @3000 msec <0= (value : 0)

[1051] JLINAC2/VAC IOMN_PUMP/SEK L2_ASIKICKERZ FLAG] timer @3000 msec <0= (value : 0)

[1052] ILINACZ2IVAC. TP GISEK.L2_AG[dddRdSchaltFktStatinteger] register is bound to /ILINAC2VAC TPGISEK.L2_A1G1[dddRdSchaltFktStatinte ger] (as an MCA element) @3000 msec =0= (value : 1)
[1053] JLINAC2/VAC ION_PUMP/SEK L2_ASIKICKER3.FLAG] timer @3000 msec <0= (value : 0)

[1054] JLINACZ2/VACION_PUMP/SEK.L2_AG[KICKER4.FLAG] timer @3000 msec <0+ (value : 0)

[1055] JLINACZ2/VAC.IOMN_PUMP/SEK L2_ASIKICKERZ. FLAG] timer @3000 msec <0= (value : 0)

[1058] JLINAC2/VAC TPGISEK.L2_AT7[dddRdSchaltFkiStatinteger] register is bound to /JLINAC2VAC TPG/SEK L2_A1G1[dddRdSchaltFkiStatinteger] (as an MCA element) @3000 msec <0= (value : 1)
[1057] JLINACZ2/VAC.IOMN_PUMP/SEK L2_ASIKICKER1.FLAG] timer @3000 msec <0= (value : 0)

[1058] JLINAC2VAC. TPG/SEK.L2_PIA[dddRdSchaltFktStatinteger] register is bound to /LINAC2WVAC TPGISEK.L2_A1G1[dddRdSchaltFktStatinteger] (as an MCA element) @3000 msec =0= (value : 1)
[1059] /LINACZ2IVAC. TP GISEK.L2_A8[dddRdSchaltFktStatinteger] register is bound to /ILINAC2VAC TPG/SEK.L2_A1G1[dddRdSchaltFktStatinte ger] (as an MCA element) @3000 msec =0= (value : 1)
[1060] /JLINACZ/Strom.DC-PIAZO[Strom] timer @ 1000 msec =0= (value : 0.0)

[1062] JLINAC2/GLOBALSI[Energy] receive @1000 msec =0= (value : 448.7987)

[1063] JLINACZ2/VAC.ION_PUMPISEK MOD1_2[I0_STATUS_INSTR] register is bound to /LINACZNVAC.ION_PUMP/DEVGRP11TIO_STATUS_INSTR] (as an MCA element) @3000 msec <0= (value : 248)
[1064] JLINACZ/VAC. ION_PUMP/SEK.MOD3_4[I0_STATUS_INSTR] register is bound to JLINAC2VAC.ION_PUMP/DEVGRP11TIO_STATUS_INSTR] (as an MCA element) @3000 msec <0= (value : 248)
[1065] JLINAC2/VAC.ION_PUMP/SEK MODS_B[IO_STATUS_INSTR] register is bound to /LINACZNVAC.ION_PUMP/DEVGRP11TIIO_STATUS_INSTR] (as an MCA element) @3000 msec <0= (value : 248)
[1066] JLINAC2/VAC ION_PUMP/SEK L2_A1G2[VA.OK] register is bound to /LINAC2ZVAC.ION_PUMP/DEVGRP117[VA.OK] (as an MCA element) @3000 msec =0= (value : true)
[1067]/LINACZ2/VAC.IOMN_PUNMP/SEK.L2_INJ2[VA.OK] register is bound to /LINAC2ZNVAC. ION_PUMP/DEVGRP117[VA.QK] (as an MCA element) @3000 msec =0= (value : true)

[1068] JLINACZ2/VAC.ION_PUMP/SEK L2_INJ1[VA.OK] register is bound to /LINAC2NVAC ION_PUMP/DEVGRP117[VA.OK] (as an MCA element) @3000 msec =0= (value : true)

[1069] JLINACZ2/VACION_PUMP/SEK.MOD7_B[IO_STATUS_INSTR] register is bound to /LINACZ2NVAC ION_PUMP/DEVGRP11T[IO_STATUS_INSTR] (as an MCA element) @3000 msec <0= (value : 248)
[1070] JLINACZ2/VAC.ION_PUMP/SEK MODS_10[I0_STATUS_INSTR] register is bound to /LINACZVAC. ION_PUMP/DEVGRP11TIIO_STATUS_INSTR] (as an MCA element) @3000 msec =0= (value : 200)
[1071]/LINACZ2VACION_PUMPISEK. MOD11_12[I0_STATUS_INSTR] register is bound to /LINACZ2/VAC.ION_PUMP/DEVGRP117[I0_STATUS_INSTR] (as an MCA element) @2000 msec <0= (value : 248)




Tip of the Week

The same thing might happenina C
client.

o Also: Single synchronous links keep an
entry in the connection table for up to 2
seconds after the call has completed !

for (int i=0; i<5000; i++) This might cause
{
gprintf (dev, " /XFEL/Someserver/Device %d4d",i); prOblemS unless you

ExecLink {dev, "ScmeProperty", &dout .Ed_in.I:E_REE:l:I ; ‘do Something’ o

1




Tip of the Week

If you know you’ve got an ‘extreme’ case then ...

C-Lib :

void SetConnectionTableCapacity ( int value )

Sets the maximum number of entries in the connection table.
A client's connections are managed and maintained in a connection table. The size of this table is pre-allocated at initialization time. This allows for fast lookups, since a connection

ID is simply an entry into the table. If it is known that the client will need a large number of simultaneous links then this value should be set accordingly at initialization time.

Parameters:
value is the requested Client API Callsonnection table size

Default: 1000 (Or define CLIENTLIST_CAPACITY in project.def)

See also:
GetConnectionTableCapacity()

Java (TLinkFactory) :

static public int setMaximumNumberOfLinks(int numberOflLinks)

Jddd an ddd set these to 5000 (10000 ?)




